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Multiple Choice Questions.
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Full Solution.

I. As v > 1 and w > 1, we sce that v + FITT > 1, henee 0 < +—‘T- < 1. Therefore, u is the
wT

integer part of 23/7, namely 3. Thus, l-‘+i.—ll = 2/7, and hence v + ﬁ = 7/2. Since w = 1,

0< ”-ﬁ < 1, and hence v is the integer part of 7/2, namely 3. Tt now follows that (—r-}r—l =:1/2,

and therefore w = 1.

2. Since each side is nonnegative, let us square both sides. We obtain @2 +2ay+1% > 1+ 22y + 222,
Rearranging, this is 1 — 2% — % — 222 < 0. That is, (1 — 2?)(1 — y2) < 0. Thercfore, either
1 — 22 is positive and 1 — y? is negative, or vice versa. But z is an integer. Therefore, if 1 — 22 is
positive, then & = 0. Similarly, if 1 — y? is positive, then = 0. Either way, 2y = 0. To sec that
this is indeed a valid solution, use 2 = 0, y = 2.



